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SECTION — A

An i - i
Swer any six sub Questions. Each Sub-question carries two marks.

1.

dend.

Y working capital ?

g of capita| budgeting.

plan.

e) What do you mean by capital budgeting ?

f) Give the meaning of capital Structure.

g) Given EBIT Rs. 2,4

shares are 40,000

h) What is financial management ?

(6x2=12)

a) Give the meaning of interim divij
b) What do YOou mean p

c) Give the meanin
d) Define financial

0,000. Tax rate 30%. Find out EPS if number of equity

SECTION - B

Answer any three questions. Each question carries four marks. (3x4=12)

2. Explain the uses of adequate working capital.

3. State the functions of financial management.

4. Shreyas Company Ltd. is considering the purchase of new machine. Two
alternative Machine R and S have been suggested. Each costing Rs. 6,00,000.
Following are the expected cash inflows :

Year 1 2 3 4 5
Machine R (Rs.) 1,80,000 2,40,000 3,00,000 1,80,000 1,20,000
Machine S (Rs.) 60,000 1,80,000 2,40,000 3,60,000 2,40,000

Calculate payback period. 2
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5. A firm has sales of

Rs. 20,00,000, variable cost of Rs. 4,00,000 and debt of
Rs. 10,00,000 at 10% rate of interest,
Calculate :

gt"
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1) Operating leverage

2) Financia| leverage

of Rs. 4,80,000 and its capital structure

es:
Rs.
Equity share Capital (Rs. 10 each) 4,00,000
12% preference share capita| 6,00,000
14.5% debentures 10,00,000
The company is facing fluctuation in Its sales. What woulq be the percentage
changes in EPS ?

a) If EBIT of the company increased by 25%.
b) If EBIT of the Company decreased by 25%.

The Company tax rate is 30%.
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~{/1. Acompany has an

investment o ' -
net ¢ PPortunity ¢ '
ash flow before depreciation and af%ero 'fat‘)? 9. 40,000 with the ol
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owing,
Year
1 Net cash inflow
7,000
2
7,000
3
7,000
N 7,000
> 7,000
6 8,000
7 10,000
8 15,000
9 10,000
10 4,000

Using 10% of the cost of capital determine
a) Payback period
b) NPV at 10% discount factor

PV factor at 10% is as follows :

Year 1 2 3 4 S 6 7 8 9 10

PV factor

0.909 0.826 0751 0683 0621 0564 0513 0467 0424 0.386
at 10% '




